Quantitative Aptitude.

Q1. It was caluculated that 75 man could complete a piece of work in20 days wen work was scheduled to commenced , it was found necessary to send 25 men to another project .

How much longer will it take to complete the work ?

a 10    b    30  c   60    d 90. e None of these .

Q2 A student divided a number by 2/3 when he required to multiply by 3/2 calulate the % of error in his result……

  a  10%    b 20%   c  0%   d 5%  e None of these .

Q3. A dishonest shopkeeper professes to sell pulses at the cost price, but he uses a false weight of 950 gm, for a kg . His gain  is ,……….. %.

 a 5.2%    b 3.2%   c  7.3%   d 2.5%  e None of these .

Q4. A software Engineer has the capability of thinking 100 lines of code in five minutes and can type 100 lines coding in 10 min .He takes a break of 5 mins after every 10 mins. How many of lines of codes will he complete typing after an hour.

a 250    b 350   c  150  d 100     e None of these .

Q5. A man was engaged on a job for 30 days on the condition that he would get a wage of Rs, 10 for the day he works, but he have to pay a fine of Rs. 2 for each day of his absence. If he gets Rs. 216 at the end, he was absent for work for ….. days.]

a 5 days    b 7days   c  10days   d 15 days  e None of above.

Q6.If every alternative letter starting from B of the English alphabet is written in small letter, rest all are written in capital letter, how the month ”September” be written. 
Ans A SeptEMbEr    b SEpTeMBEr   c  SeptembeR   d SepteMber  e None of these .

Q7. Eight frends H,F,BH,E,D,C,G and A are sitting in a circle facing the center. B is sitting between Gand D. H is third to the left og B and second to the right of A. C is sitting between A and G and B and E are not sitting opposite to each other.Who is third to the left of D.

a  D                 b  H             c  F            d G           e None of these .

Q8. A tennis marker is trying to put together a team of four player for a tennis tournament out of sevent available. Males –a, b, c ; females- m, n, o, and p.All players of equal ability and there must be at least two males in the team. For a team of four, all players must be able to play with each other under the following restriction:
   B should not play with m,

   C should not play with p 
  and A should not play with o.

Which of the following statement must be false?

Ans A. b and p cannot be selected together 

       B  c and o  cannot be selected together 

       C c and n cannot be selected together 

       D None of above.   
